


25 DB(TC)|AMUESE RH(%) | &= x(kg/kg) | MEFT] i(Kcal/kg) | 2 ¢ & | H] ")

31.2 57 0.01860 19.5 Sk NEVIES

-11.3 63 0. 00082 -2.57 Ag NEVIES

[l

o 5 A 2
dATeE | MOsE | FOsE | ATRE | NOBE | MOBs
DB(TC) RH (%) x (kg/kg) DB(TC) RH (%) x (kg/kg)
24 50 0.0105 22 40 0.0061
24 50 0.0150 22 40 0.0061
24 50 0.0150 22 40 0. 0061
24 50 0.0150 22 40 0.0061
SIS olg U =F OIX Rt
I o0 M w N £ s

HI

Ol AtH (QIM?) | =HESE (WATT/M) | & E (Kcal/HR. Q1) | & ¥ (Kcal/HR. Q)

0.2 32 54 59
0.2 32 54 59
1.0 100 81 132

0.5 70 60 68




2 Mt SA 2 ( n’/HR/m® )
A F ZA(0."x1%m) O & & (1.%=x2%n)
AA &
HFEFEHO| Qi 70 2 AR A Hi2feto| = 70 2 AR A
of = 14.° 7.4 9.4 4.°
7 2 29.2 14.° 18.° 9.2
2 FH20| tng 2 Z7(2F ( m*/HR.m )
2 2| = = ( m/sec )
=5 T
2 4 6 8 10
A 5F A B 1.° 3.8 6.! 9.2 11.2
3l ™M A Z 4" 9.3 14.* 19.7 252
gojles &HE 1.° 4.% 7.} 10. " 13.*
2= 232 =5l 2AAFZF I6R ( Kcal/m®. HR )
AlZH A o
ae | T F NW NE SE SW N E S W
08 : 00 248.° 17.° 252.* 290.* 17.t 17.t 398.° 19.* 17.t
10 : 00 4638 31.2 71.2 227.8 31.2 31.2 224.° 75.* 31.2
12 : 00 540, 2 31.8 31.8 74.7 74.7 31.8 31.8 117.3 31.8
14 : 00 4638 71.° 31.2 31.2 227.8 31.2 31.2 75.* 224.°
16 : 00 2917 2521 17.1 17.1 290.* 17.1 17.1 19.4 398.°
18 : 00 40.° 171" 11.° 11.° 86.° 47.° 11.° 11.° 1847
2= 2|9 tfFHeF 16C ( Keal/n’. HR )
AlZE A
we | T 8 NW NE SE SW N E S W
08 : 00 11.7 8.2 11.2 11.° 8.2 8.2 12.3 8.4 8.2
10 : 00 20.2 15.° 16.8 18.2 15.° 15.° 18.1 16.° 15.°
12 : 00 23.* 184 18.* 19.7 19.7 18.* 18.* 20.3 18.*
14 : 00 23.7 202 18.° 18.° 21.° 18.° 18.° 20.° 21.°
16 : 00 19.° 19.° 16.° 16.° 19.° 16.° 16. 16.7 20.°
18 : 00 11.7 12.° 11.° 11.° 12.° 11.8 11.° 11.° 12.7




8. HAQ MHYR2Z=A} 4te ( T )
e A o
ae | T E NW NE SE SW N E S W
08 : 00 8.° 3.8 4.° 4.8 4.° 2.8 5.7 3.* 5.2
10 : 00 8.* 3.8 3.° 4.2 4.° 2.2 5.7 3.3 6.°
12 : 00 16.° 4.8 14.° 12.° 5.7 5.7 15.° 4.3 6.°
14 : 00 25.8 6 12.* 15.* 7.3 4 16.°2 8.4 7.7
16 : 00 31.¢ 6 7.8 13.5 8.8 6 11.8 11.° 8.°
18 : 00 31.° ° 7.° 9.! 14.° 8 8.° 11.8 12.°
9. X8| MY 2R} 4te ( T )
Al 2t 08 : 00 10 : 00 12 : 00 14 : 00 16 : 00 18 : 00
2 = R 0 11.t 21.1 27.7 28.8 22.°
10. g ¢ A =
CTT] X = NW NE SE SW N E S W
7_."4\_ 12 115 115 105 105 12 11 10 11
11. HHI XEL2Z (n)
2l 0] -1.° -1.% -2.° -2.° -3.° -3.% -4.° 5.0 -6.°
2 = T C T T 8.9C T T 11.5C T
12. HEE IS
10| 272t Mt 290| 2(7|et Mgt 3HO0| 272t AME
1.° 3|/HR 1.5 3|/HR 2.° 3|/HR
13. HEE B[S ( 3[/HR )
MAA (n) 0 500 1,000 1,500 2,000 2,500 3,000 O|Af
B 7 8 0.7 0.° 0.% 0.° 0. % 0.* 0.%
14, R[] HHFTE ( Keal/mhT )
s 2 N # 16 MM 5572
g 2 7 =2 3.2
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&

-

-

g M &

o & Y A = | S JH(mm)
kcal/M.HR.C m .HR.C/kcal

Ml ehe) Zhe 15 0.69 0.022
sH 600 1.4 0.086
NYHEZE 18 1.2 0.015
WEHs 0.133
0.256

3.91

WEHs 0.133
== 18 1.2 0.015
NS = 200 1.2 0.1666
=€ 18 1.2 0.015
WENHs 0.133
R 0.463

2.16




R I Y F:

= A o W df 2 3} KCAL/HR )| T LHab £5¢ "

siisial | atagjeiat | ( KCAL/HR )| ( KCAL/HR )

5l 1)EY 211 39, 600 15, 636 55, 236 29, 052 AHU
2) 0L 2|58 56, 868 65, 076 182,816 74,878 AHU
3)3|3t2|&[2I3| 4,554 2,961 7,518 14,688 AHU
4) ZE| AR Al 2,014 921 2,935 3,363 AHU
5) A7t H 3| 889 650 1538 2,041 AHU
6) S0l 6,935 3,129 10, 064 4,602 AHU
7)E0}t0| 6,562 2,957 9,519 14, 022 AHU
8)S21 53, 332 20, 429 73,761 61,591 AHU
9)ER2(8X) | 168,937 86, 080 255, 018 60, 265 AHU
10)E23 53, 332 20, 429 73,761 61,591 AHU

k>

393, 023 218,268 611,291 326,093




H = i
o, Hal 251 A®E
o S FE 3 LtdF 25
= N o 2 i gt £ 3}( KCAL/HR ) =G el "
( M) 10:00 16:00 ( KCAL/HR )

25 Al -1 35 5,164 2,980 3,500 FCU
Aol O AFAS 33 5,387 2,837 3,131 FCU
CHE O|AFAI 49 7,326 4,180 4,727 FCU
AMAl -2 35 3,299 4,088 3,290 FCU
=222 A7) 35 2,864 2,864 2,181 FCU
s F I,

~ 140 10,995 12,979 14,105 FCU
71 X|HE
AFOl ZFALAS 56 9,991 10, 676 4,014 FCU
a4 SLE 25 3,563 3,913 3,238 FCU
Al A 22| 2 113 9,845 22,768 11,700 FCU
ze|g &3 35 2,687 2,687 2,181 FCU
= H2HA 52 4,074 4,074 2,635 FCU
AFRAI 33 3,090 6,701 3,513 FCU
3| A&HA 60 5, 360 12,140 6,843 FCU
st=2g3go|M
;f =80l 30 3,375 2,728 3,597 FCU
=K
SHEE AN o=

=EA0ST 60 6,082 6,574 7,186 FCU
Pl
J1E s 60 6,097 6,588 7,330 FCU
VIP Al 30 3,152 4,285 3,672 FCU
AMAl -3 25 2,379 2, 066 2,256 FCU
AR 35 4,426 3,249 4,467 FCU
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= = 3T
o, Hal 251 A®E
= N o A | dJ & 2 5(KALHR ) | HE Fo
o o 2
( M) 10:00 16:00 ( KCAL/HR )
_ = E 2 ¢ 3
3= 126 11,510 16, 600 16, 686 FCU
MEAIFA
ALRA -1 25 2,353 3,363 3,608 FCU
T3 M
o e n 115 10,583 11,546 15, 838 FCU
SAIR A (F4H
SFZ O RHE|L|A
= Oi KB L 50 4,637 6, 706 6,878 FCU
Pl
SIZOMAZR
;IEOE' < 105 10,574 21,200 15, 663 FCU
2
SIZASX|EX
_:Jj =%t 105 10,516 22,142 16,294 FCU
SHE3|
3| AHA 42 4,767 15, 638 6,122 FCU
ALRA -2 135 13,749 33,871 21,098 FCU
HE2 40 3,733 5,349 5,554 FCU
23 25 2,265 3,275 3,271 FCU
MEaelnl
1ff = 108 9,560 13,924 14,077 FCU
%TRI
7| EH LA 75 6,915 9,945 10, 192 FCU
7| KAl 115 10,593 15,241 15, 618 FCU
S A SHX
:;qu 126 11,481 16,572 16, 457 FCU
A3
SHE XN S&t2
:_Iqﬁ } 75 6,950 9,980 10, 294 FCU
AR A
ALRA -3 38 3,550 5,085 5,146 FCU
ALRA -4 38 3,550 5,085 5,146 FCU
3|0l Al 75 6,939 9,969 10, 262 FCU
SHAMAL -1 25 2,856 = gt




o, Hal 251 A®E
o S FE 3 LtdF 25
= Al 54 i zﬁ W gt £ 3} KCAL/HR ) =G el "
( M) 10-00 16-00 ( KCAL/HR )
35 B}RMAl -2 25 2,856 ooz 4k
SHAMA -3 25 2,856 ofg|ls Y
SHAMA -4 25 2,856 otg|s dt
A A 1,518 134,225 225, 491 209, 587
AHES| EHEHAM 68 6, 360 9,334 11,564 FCU
gt A 4,856.7 380, 099 496, 697 490, 878
71 E} | 2=7] -1 82,380 82,380 85, 420
Zx7| -2 79,110 79,110 80, 100
=2x7| -3 64, 630 64, 630 65, 350
A2 A 226,120 226,120 230, 870
et A 4,856.7 606, 219 722,817 721,748







§FAAIstE B7F . B4 F A

1. AF&Z AA

7

D Aol o3y (g8 AE)

1l il

- 4,724.00 M?x 10 LIT = 47,240 LIT

2 A4 A
-9 A4 J01E)

- & 2 1 125 TON

W L H
- It 2 17300 x 8000 x 2300

-4 A A%

rl

ERLEE =

-5 F 1w



D& F A
- W3 (AHU ZONE) : 574,340 KCAL/HR
- a8k (15%) : 86,1561 KCAL/HR
- o E 58t (20%) : 132,098 KCAL/HR
TOTAL 792,589 KCAL/HR
792,589 kcal/hr + 3,024 kcal/hr - RT = 262 R/T
24 A

oS ot
ok
oo

v
of
oo

A ESY Y2 FUE

o 150 R/T

o 408,240 KCAL/HR

= g SAgL:37 KW
WujH =04 KW
AFHZ:04 KW

QF 1 23074000 mmAQ

WA 58w

o

<t 30 / 380/ 60 Hz

2k

[¢]

2



3. 34 % AA

2) A

WzkEEE 0 (90.8 MY/HR + 90.8 MP/HR) x 2d] = 181.60 M*/HR
. 181.60 M*/HR x 1000 x 5C x 1.25 = 1,135,000 kcal/hr

= 1,135,000 kcal/hr + 3900 = 291R/T

4
IR TE

& & 1250 R/T
e 0 2500 LPM

<)}
H

o%
I
5

T&E 32T /375 C

e

off

2 22 KW

A ¥ 30 /380 /60 HZ

i s W 150 A, 5 ¢ 25 A

F @2



4. Y45 <3P = A4

D g =

157 m’/HR x 1000 + 60MIN + 2t} x 1.3 (A7) = 3401 LPM

2) & A 100 x 0.05 =5M
TR A(50%) = 25 M
LIRS R =25 M
T T 7 = (4.1 + 299M

S. F10%) =17M

TOTAL : 187 M

3) A & 7l
3401 LPM x 19M x 1.1
= 26 HP
4500 x 0.6
494 A
-3 A dd BRE (Aol

- T 74 1150 x 125

|
e
4>
o

: 4000 LPM

-4 4 128 M

- A 30 /380 / 60 HZ

-5 2 40 HP

- F 3 Ade A



+ 907,200 kcal/hr + 5C + 60 MIN x 1.25 = 3,780 LPM

2) & 4 180 x 0.02 =16 M
=528 (50%) = 0.8 M
WooB F =30M
=T % 7 =40 M
S. F(10%) =10M

TOTAL : 104 M

3 A % 7|
3780 LPM x 11M x 1.1
= 2541 HP
4500 x 0.4
HA A
- ¥ 4 ud RRE

- 7 73 100 x 80

|
e
4>
o

© 2,100 LPM

- % A 260 M

- A 30 /380 / 60 HZ

-5 2 20 HP

- ®F 3 ddds )



6. AHU (Z71237]) A4

1. 4

N

}7<d : COMMON COIL (HEATING)Y
* RSH : 393,023 KCAL/H

* RLH : 218268 KCAL/H

* RTH : 611,291 KCAL/H

« @B (RSHF) : 0.65

* 21718 16700 CMH

* SHF 97,760 CMH (83]/HR)

(31.1 x 16700)+(81,060 x 24)

97,760
= 25217TC
x W2bg = = 97760CMH x 1.25 x (12.8 - 8.1) KCAL/KGT
= 574,340 KCAL/H x 1.2
= 689,208 KCAL/H + 3024 =229 US RT
= 150 USRT x 2
* Wead 995 = DB 195C/WB 182T

o%
ol
=
e
v

77 = DB 13C/WB 12T, i = 81 KCAL/KGT

* Yreh = 4% 5C / 725 10T
x WagF = 689,208 / (60x5TC) = 2,297 LPM = 1148 LPM x 2

A A



F W s AHU-1 AHU-2 &l kil
& = 37H& s
T = 1 1
3 2] JAFLEHYTYPE) | A (L EJTYPE)
g 4 AIR FOIL TYPE | AIR FOIL TYPE
2 5 [FHCMM) 900 900
T ek mmAQ) 100 100
= EH(HP) 40 40
I AIR FOIL TYPE | AIR FOIL TYPE
g o |TFHCMM) 580 580
FE71 14 9HmmAQ) 45 45
= EHHP) 10x2 10x2
2 d A | d(m) 6 (m) 6 (m)

42 kcal/hr

vk 460,000 kela/hr
RS

=)

i} 423,000 kela/hr

460,000 kela/hr
Wi 423,000 kela/hr

_ Y=+ CDB/TWB 25.21/20.7 25.21/20.7
[e)
wes | | .
°. = =7 CTDB/CWB 12.4/12.3 12.4/12.3
Y
_ 7/12 7/12
Jed AET LE C
SET AT 60/55.8 60/55.8
W4 LIT/MIN 1,148 LIT/MIN 1,148 LIT/MIN
= 2] 71842 743571 71842 7k 5 7]
7t
Y
4 % kg/hr 50 kg/hr 50 kg/hr
2 g PRE- FILTER Pre+lonizer Pre+lonizer




7. MR AR CIAARATNA)

D S5& A4E
-15x 15 x 1.5 = 3375 M* = 3375 M’
2) % drk A x 8 M
=54 &H(20%) 16 M
PIPE (15M x 0.05) : 0.75 M
A& (15%) 1155 M
TOTAL 11.90 M
D F A YUY wEe
T H 500
% 4 1440 LPM
¥ A :1TM
A 9 3e /220 /60 HZ
5 g :1 HP
T F 4y



8. 249 Z AACIAAR)

D &rd =

+6.0 x 40 x 1.8 = 43200 M* = 43.200 M’

2) & IR I ST 8 M
= A @H(20%) 16 M

PIPE (15M x 0.05) : 0.75 M

oLd & (15%) © 155 M
TOTAL : 11.90 M
3) 2 uAEA H=
T 450 0
& 4 = 700 LPM

% A 14 M

&l 9 130 /220 / 60 HZ

5 2 3 HP
- g2



9. ¥4 71& AA( AN 7 %)

of

1) FFAE 1 27072 M?x 45 M = 1219 M? x 203]
= 24,380 CMH + 60 MIN = 406 CMM
(37.6 M x 7.2 M = 270.72 M?)
2) A et gdEZol 60 M x 0.1 : 6 mmAqg

=54 3(60%) : 24 mmAq

= ¢4 F:5 mmAg
zt v} © 5 mmAqg
=1 7 1 4 mmAq

S F (10%) : 2.0

TOTAL : 24.44 mmAq

3 F A HENES

It 7 1 900g

< & 1 437 CMM

A QF 40 mmAq
il 9 36 /380 / 60 HZ

5 2 10 HP
T g2



10. &5 714 AA( 71AR 3718)

of

1) A5 1 35856 M2x 45 M = 1614 M? x 103]
= 16,140 CMH + 60 MIN = 269 CMM
(498 M x 7.2 M = 35856 M?)
2) A et gdEZol 60 M x 0.1 : 6 mmAqg

=54 3(60%) : 24 mmAq

= ¢4 F:5 mmAg
zt v} © 5 mmAqg
=1 7 1 4 mmAq

S F (10%) : 2.0

TOTAL : 2444 mmAq
3) ¥ 2 dEWGY
It 7 800g

< & 1 307 CMM

A < 30 mmAqg
il 9 36 /380 / 60 HZ

& 2 5 HP
T ZFr2d



11. wj7]: AA (P L)

1) FFA= 18946 M? x 24 M = 215 M® x 20 3]

= 4294 CMH + 60 MIN = 71 CMM

2) A et : gEZol 20 M x 0.1 = 2 mmAgq

F43(60%) = 1.2 mmAq

= ¢4 F:5 mmAg
z+ v} © 5 mmAq
S F (10%) : 1.32 mmAq
TOTAL : 1452 mmAq
3) 3 2 GEWEE

T 7 450 ¢

ol
o

: 82 CMM

A QF 22 mmAq

Kl 30 /380 / 60 HZ

5 2 : 1 HP
F  ZFrld



12. A3Y3a A (J,2FFUESR)

300 RT (907,200 kcal/hr)
= 7] © 600mmg x 810mmH
- & = 1 600 LIT
-l A (Vs) 04,316 LIT

§3=F 1 500 LIT

Ho
ol

A% 25 KG/em®

B
24



13. 5714 AR (AX8)

1) T2 1 162840 M? x 26 M =4,234 M* x 10 3]

= 42,339 CMH + 60 MIN = 705 CMM

2) A QF: 9EZo] 220 M x 0.1 = 22 mmAq
=54 360%) = 12 mmAq

= ¢4 F:5 mmAg

Z vl © 5 mmAq
S F (10%) : 1.32 mmAq
TOTAL : 45.32 mmAq

3) £ 2] AIR FOIL FAN TYPE

T 2 : BF-F7D

< % 710 CMM

A et : 90 mmAq

A Y 36 /380 / 60 HZ

T % :130HP
= #Frld



